The Indian Express Editorial — By English Madhyam

Thomas Piketty has the right diagnosis, wrong prescription

French economist Thomas Piketty is right that inequality isn’t a “rich country concern” and India
shouldn’t wait to become richer before addressing what is definitely a serious issue. Whether
inequality in India is widening is a moot point. Official household consumption expenditure surveys
show a decline in the Gini coefficient between 2011-12 and 2022-23 for rural and urban areas. In other
words, consumption inequality has reduced. The same may not be true with income and wealth
inequality, which would well have gone up in the past decade or more. That, if so, isn’t good not just
from a moral, social or political, but also economic standpoint. Leveraging the market potential of
India’s large population cannot happen without incomes rising at the bottom of the pyramid. Less
inequality and the aspiring poor having more money to spend is desirable even from a hard-nosed
business perspective; ask any FMCG, two-wheeler or micro-finance company executive.

Piketty is equally right with his diagnosis. The real inequality is one of opportunity. A large part of
India’s population suffers from a lack of access to quality education, health, nutrition and sanitation
facilities. It makes them less productive. Incomes are ultimately a function of productivity — how
much output and value a worker adds from economic activity. Incomes cannot rise without
productivity improving. If the bulk of the workforce is, as Piketty notes, “stuck in a low productivity
trap”, they cannot contribute to growth nor partake of its fruits. That’s all the more reason, then, why
India needs to reduce inequality — in this case, of opportunity — early enough. It calls for increasing
public investment in good schools, hospitals, provision of clean drinking water, human waste disposal
and sewage treatment systems, and other physical and social infrastructure — much more than what
the Centre and states are doing now.

Where Piketty, however, is wrong is in his prescription of taxing the wealth, and not just incomes, of
the rich. Much of the Forbes billionaires’ wealth is held as shares in the companies promoted by them.
This is paper wealth that can be realised only when the shares are sold. It’s one thing to tax incomes,
capital gains from property or share sales, and goods and services transactions — which are all “flow”
variables. Taxing unrealised wealth — which is a “stock” — is unnecessary. The tax reforms of recent
times have helped broaden the base and reduce evasion. There’s enough scope to raise additional
resources from the already existing avenues, including through better enforcement and advanced
analytics. The last thing India needs is a new tax that will create more disruptions than revenues for

funding essential public goods. s|[Practice Exercise]\

e Red/blue coloring of words in the sentence indicates subject verb relationship; where ‘red’
denotes ‘subject’ and ‘blue’ denotes ‘verb’.
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1.

10.

Vocabulary
11.

Diagnosis (noun) — Identification,
assessment, evaluation, analysis, detection

e

Inequality (noun) — Disparity, imbalance,

difference, inequity, unevenness 3THHTAAT

Address (verb) — Deal with, tackle,
manage, resolve, handle JHTTT =T

Moot (adjective) — Debatable, arguable,
guestionable, uncertain, unsettled

farereue

Gini coefficient (noun) — A measure of
economic inequality in income or wealth

distribution fS¥=iT a[uTieh

Decade (noun) — A period of ten years
aRIeh

Standpoint (noun) — Perspective,
viewpoint, position, opinion, attitude

TfSeapior

Leverage (verb) — Utilize, exploit,

maximize, apply, capitalize on ¢ITdH 3ST=T

Potential (noun) — Capacity, ability,
capability, possibility, promise G3TdAT

The bottom of the pyramid (noun) — The
poorest socio-economic group in society

TATST T fAFTadH TR

12.

13.

14.

15.

16.

17.

18.

19.

20.

Hard-nosed (adjective) — Practical, tough-
minded, realistic, pragmatic, determined

ShTagTReh

Perspective (noun) — Viewpoint, outlook,
angle, approach, frame of reference

gfSeanroT

Productive (adjective) — Efficient, effective,

fruitful, industrious, profitable 3c9iceh

Partake (of) (verb) — Participate, engage,
share, consume, take part 13T ol

Call for (phrasal verb) — Demand, require,

request, necessitate, appeal for AT HLAT

Waste disposal (noun) — Removal of
unwanted materials, trash management,
waste management, garbage clearance

FT e

Tax (verb) — Levy, impose, charge, assess,
collect s oIdTTAT

Capital gain (noun) — Profit from the sale

of assets such as property or stocks q‘\\_:ﬂ?lﬁ
T

Variable (noun) — a situation, number or

quantity that can vary or be varied H’@}’ZIT
T ATAT

Broaden the base (noun) — Expand the
foundation, increase participation, widen

coverage, enhance scope TR dGlTl
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21. Evasion (noun) — Avoidance, escape, 25. Enforcement (noun) — Implementation,
dodging, circumvention, non-compliance execution, application, regulation, policing
HT A olTd] &hiadT

22. Scope (noun) — Range, extent, capacity, 26. Disruption (noun) — Disturbance,
area, possibility QIEIRT interruption, break, disorder, upheaval

STeT

23. Existing (adjective) — Present, current,
active, operational, in place IcTHTT 27. Essential (adjective) — Necessary, crucial,

vital, important, indispensable 3TdTh
24. Avenue (noun) — Pathway, method,

option, route, channel 39T
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10.

11.

12.

13.

14.

15

Summary of the Editorial
Piketty’s Diagnosis on Inequality: Thomas Piketty correctly observes that inequality is a
universal issue, not confined to rich countries, and India must address it urgently.
Inequality in India: While consumption inequality, as measured by the Gini coefficient,
has decreased between 2011-12 and 2022-23, income and wealth inequality may have
risen.
Economic Implications: Rising inequality is problematic not just socially and morally but
also economically, as leveraging India’s market potential depends on increasing incomes
at the bottom.
Business Perspective: Reducing inequality boosts the purchasing power of the aspiring
poor, benefiting businesses, especially in sectors like FMCG, two-wheelers, and micro-
finance.
Opportunity Inequality: The core issue in India is inequality of opportunity, stemming
from limited access to quality education, healthcare, and basic amenities.
Productivity Link: Incomes are tied to productivity, which is hindered when a significant
portion of the workforce lacks proper resources and remains in a low-productivity trap.
Public Investment Needs: To improve opportunities, India must significantly increase
public investments in schools, hospitals, clean drinking water, sanitation, and other
social infrastructure.
Current Efforts Insufficient: The present investment by the Centre and states in physical
and social infrastructure is inadequate to address inequality of opportunity effectively.
Piketty’s Taxation Prescription: Piketty suggests taxing the wealth of the rich, but this
proposal is flawed and unnecessary.
Wealth vs. Income Taxation: Wealth, especially billionaire wealth, is often tied up in
shares and unrealized assets, which are paper valuations, not actual flows of income.
Practical Taxation: Taxing income, capital gains, and transactions — all flow variables —
is a more effective approach than taxing unrealized wealth.
India’s Tax Reforms: Recent tax reforms in India have broadened the base and reduced
evasion, creating opportunities for raising additional resources.
Better Enforcement: Improved tax enforcement and the use of advanced analytics can
generate more revenue from existing systems without introducing new taxes.
Disruption Concerns: Introducing a wealth tax could cause economic disruptions and
yield limited revenue, which is counterproductive for funding essential public goods.

. Key Takeaway: While addressing inequality is critical for India’s development, the focus

should be on enhancing opportunities and improving existing tax systems rather than
creating new wealth taxes.
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Practice Exercise: SSC Pattern Based
1. What is the tone of the passage? ‘[Editorial Page]|

A. Alarmist
B. Complacent
C. Light-hearted
D. Analytical
2. According to the passage, what is the "real inequality" that Thomas Piketty highlights in
the Indian context?
A. Wealth and income inequality
B. Inequality of opportunity
C. Inequality in market potential
D. Inequality in consumer spending
3. What trend does the official household consumption expenditure survey reveal between
2011-12 and 2022-23 in India?
A. Income inequality has reduced.
B. Wealth inequality has widened.
C. Consumption inequality has reduced.
D. Gini coefficient has remained constant.
4. According to the passage, incomes are ultimately a function of
A. Desire
B. Luck
C. Inheritance
D. Productivity
5. Direction: Identify the statement that is TRUE based on the author’s argument about
wealth taxation.
Which of the following statements accurately reflects the author’s viewpoint about taxing
the rich?
A. Taxing unrealized wealth (paper wealth) is necessary for India to fund public goods.
B. Reducing inequality of opportunity requires significant public investment in social
infrastructure.
C. The author believes taxing capital gains from share sales is unnecessary for revenue
generation.
D. The author endorses a new wealth tax to create fewer disruptions in the economy.
6. Select the option that can be used as a one-word substitute for the given group of words.
The study of ancient things such as art, graves, ruins etc
A. Archaeology
B. Meteorology
C. Geology
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7.

10.

11.

12.

D. Astrology

Select the most appropriate option that can substitute the underlined segment in the
given sentence.

No sooner did Mr. Piyahri Mishra finish his chemistry lecture that the students began to

leave

A. so the students began to leave.

B. than the students began to leave.

C. then the students began to leave.

D. and the students began to leave

Select the most appropriate synonym of the given word.

Miraculous

A. Average

B. Draining

C. Expected

D. Incredible

Select the most appropriate option to substitute the underlined segment in the given
sentence.

After reflecting on the matter regarding his boss’s selfish attitude, Raju decided to force
himself to perform an unpleasant action in a difficult situation in order to resolve the

matter.

A. ignore the bullet

B. shoot the bullet

C. dodge the bullet

D. bite the bullet

Select the most appropriate synonym of the given word.
Magnificent

A. Sacred

B. Splendid

C. Slow

D. Scared

Select the most appropriate synonym of the given word.
Beseech

A. Bequeath

B. Pamper

C. Implore

D. Impart

Select the term which means the same as the given group of words.
A continuing unpleasant situation, created when one problem causes another problem
that then makes the first problem worse

A. Vicious cycle
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B. Enclosed cycle

C. Repetitive cycle

D. Round cycle

Select the option that expresses the given sentence in passive voice.
The school will hire new teachers

13.

14.

15.

16.

17.

18.

19.

A. New teachers are hired by the school.

B. The school will be hiring new teachers.

C. New teachers will join the school.

D. New teachers will be hired by the school

Select the most appropriate ANTONYM of the given word.
Absolve

A. Commend

B. Accuse

C. Excuse

D. Appeal

Select the option that can be used as a one-word substitute for the given group of words.
A person who has supreme power or authority

A. Diversity

B. Secular

C. Sovereign

D. Foreign

Select the option that corrects the error in the given sentence.
She sings good

A. well

B. goodly

C. better

D. best

Select the option that expresses the given sentence in passive voice.
Meenakshi could have sent a reply.

A. Areply could have be sent by Meenakshi.

B. A reply could have been sent by Meenakshi.

C. Areply could have been send by Meenakshi.

D. Areply could have sent by Meenakshi.

Select the most appropriate ANTONYM of the given word.
Appreciate

A. Depict

B. Esteem

C. Depreciate

D. Acknowledge

Select the most appropriate option to fill in the blank.
The US building was built in the year 1800.
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20.

21.

22

23.

24,

. capital

captain

capitol

. cannibal

Select the option that can be used as a one-word substitute for the given group of words.
Lack of interest, enthusiasm or concern
A. Antipathy

B. Apathy

C. Empathy

D. Sympathy

Comprehension:

A
B.
C
D

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Augmented reality and virtual reality are two types of reality technologies that either
augment or replace a real-world environment with a (1) one. In augmented reality,
a virtual environment coexists (2) the actual world, to be instructive and offer
more data about the real world that a user can access without having to search. When a
handset is pointed at a piece of malfunctioning (3) , for example, industrial AR apps
might provide rapid troubleshooting information. Virtual reality is a (4)

environmental simulation that completely replaces the user's surroundings with a totally
virtual world. For example, VR may provide a user with a box containing a cartoon

(5) of Mike Tyson in a virtual boxing ring.

Select the most appropriate option to fill in blank number 1.

A. suffocated

B. revealed

C. simulated

D. catered

. Select the most appropriate option to fill in blank number 2.

A. with

B. along

C. beyond

D. behind

Select the most appropriate option to fill in blank number 3.
A. arsenal

B. baggage

C. outfit

D. equipment

Select the most appropriate option to fill in blank number 4.
A. conclusive

B. comprehensive
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C. reprehensive
D. transgressive
25. Select the most appropriate option to fill in blank number 5.
A. glossary
B. resistance
C. rendition
D. network
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Answers
1. D 2.B 3.C 4.D 5B 6.A 7.B 8.D 9.D 10.B 11.C
12. A 13.0 14B 15.C 16.A 17B 18C 19.C 20.B 21.C 22A
23.D 24B 25.C [Practice Exercise]|

Explanations
1. D) Analytical
The passage critically examines Thomas Piketty’s diagnosis on inequality and discusses why his

solution (wealth tax) may be unsuitable for India. The writer uses factual data (e.g., Gini
coefficients) and evaluates different viewpoints, which shows an analytical approach rather than
an emotional or casual tone.
A: The author does not sensationalize the issue but rather evaluates it in a reasoned, data-
driven manner.
B: The author is neither indifferent nor dismissive; they recognize inequality as a serious
concern that needs addressing.
C: The passage deals with serious socio-economic issues and is not written in a humorous or
informal style.
2. B) Inequality of opportunity
The passage explicitly mentions that Piketty highlights the "real inequality" as one of
opportunity, particularly due to the lack of access to quality education, health, nutrition, and
sanitation facilities.
A: Incorrect. While wealth and income inequality are mentioned, the passage does not describe
them as the "real inequality."
C: Incorrect. Market potential is discussed in terms of leveraging the population's income but is
not presented as the primary inequality.
D: Incorrect. Consumer spending is linked to income disparity but not described as the core
inequality in the passage.
3. C) Consumption inequality has reduced
The passage states that the Gini coefficient, which measures inequality, declined for rural and
urban areas during this period, indicating a reduction in consumption inequality.
A: Incorrect. The passage suggests that income inequality may have widened, not reduced.
B: Incorrect. The passage mentions that wealth inequality may have increased, not reduced.
D: Incorrect. The Gini coefficient declined, which signifies a change (reduction), not constancy.
4. D) Productivity
A (Desire): Incorrect because the passage emphasizes that incomes depend on how much
output/value a worker adds, not on mere wants or desires.
B: Incorrect because the author does not suggest that chance dictates incomes; rather, it is tied
directly to one's contribution and skills.
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C: Incorrect because the passage focuses on the productivity of the current workforce rather
than wealth passed down through families.
D: Correct because the passage explicitly states that incomes are "ultimately a function of
productivity."

5. B) Reducing inequality of opportunity requires significant public investment in social
infrastructure.
A: Incorrect because the author argues that taxing unrealized wealth ("paper wealth") is
unnecessary and can cause more disruptions than revenue benefits.
B: Correct as per the passage, which strongly advocates for investing in schools, hospitals, and
other social/physical infrastructure to reduce inequality of opportunity.
C: Incorrect because the passage actually supports taxing flows like capital gains but not
unrealized wealth.
D: Incorrect because the author explicitly states that a new wealth tax on unrealized assets
could create more problems (disruptions) than revenue

6. A) Archaeology (noun) — The study of ancient things such as art, graves, ruins, etc. PIdced
e Meteorology (noun) — The science that deals with the atmosphere and its phenomena,

especially weather and weather forecasting. Hige AT

e Geology (noun) — The science that deals with the Earth's physical structure and substance,
its history, and the processes that act on it. S{I:a'F'ITH

e Astrology (noun)— The study of the movements and relative positions of celestial bodies
interpreted as having an influence on human affairs and the natural world. S3ITaY

7. B) than the students began to leave

that’ & dcof ‘than’ ﬂmﬁ?ﬁﬁﬂﬁ? "No sooner" & dT¢ "than" WWT%&TE’IFIT%I g
Teh ETAT & TSTHeRT 3TN &Y TeaA131T & Il Teh o d1E GERT o Blat ol &Riied o foIT foham
EI'IHT%; 38— No sooner did the bell ring than the students rushed out.

‘than’ will be used instead of ‘that’ because after "No sooner," the correct conjunction is "than."
This is a structure used to show that two events happened in quick succession; like— No sooner
did the bell ring than the students rushed out.

8. D) Miraculous (adjective) — Extraordinary, amazing, supernatural, phenomenal, 3-133?{
Synonym: Incredible (adjective) — Unbelievable, extraordinary, amazing, fantastic, 3Ifaeadaia
e Average (adjective) — Normal, typical, ordinary, 9TH-T
e Draining (adjective) — Exhausting, tiring, weakening, el aTlT

e Expected (adjective) — Likely, anticipated, predictable, 3798
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9. D) bite the bullet (idiom) — To force oneself to endure something unpleasant or difficult, usually
because it is unavoidable or necessary. hTSeT IR EATATT ST ATHAT HLaAT|
10. B) Magnificent (adjective) — Grand, impressive, splendid, superb, spectacular. #cJ
Synonym: Splendid (adjective) — Very impressive, excellent, magnificent, grand. eI
e Sacred (adjective) — Holy, divine, connected with God. 9fa=
e Slow (adjective) — Not fast, lacking speed, sluggish. €/AT
e Scared (adjective) — Afraid, frightened, fearful. 3TF§3—1T

11. C) Beseech (verb) — To urgently and fervently ask someone for something; to beg or plead

earnestly. fRSIT AT, =TT T

Synonym: Implore (verb) — To beg someone earnestly or desperately to do something. fardr

e Bequeath (verb) — To leave property or money to someone through a will. IEIITT HIAT

e Pamper (verb) — To indulge with every attention, comfort, and kindness; spoil. TS3T8=T, 18

CXGI
e Impart (verb) — To give or convey something, especially knowledge or information. 9cTel
ERGIRCRIGI
12. A) Vicious cycle (noun) — A continuing unpleasant situation, created when one problem causes
another problem that then makes the first problem worse. gVLIT;F
e Enclosed cycle (noun) — A cycle that is enclosed or surrounded, but it doesn't capture the
idea of problems causing each other. d¢I%
e Repetitive cycle (noun) — A cycle that repeats itself, but it doesn't emphasize the worsening
of problems. GIEITAT STTet dATelT Tsh
e Round cycle (noun) — A circular process, but it lacks the negative connotation of problems

worsening. IR dsh

13. D) New teachers will be hired by the school
Active Voice &l Passive Voice # SGelel & TolU (Object + Auxiliary Verb + Past Participle + by +

Subject) EFI'WT%QTE’IFIT%I sentence ‘The school will hire new teachers’ &l Passive Voice &
deold 98 T Object ‘new teachers’ T qTeg T agaﬂaﬁwm‘s‘l Verb ‘will hire’ @ Passive
Voice # SGeta ‘will be hired’ fawTITEI'IFIT%I Subject ‘the school’ FIITH ‘by the school’ & FT
A TG S
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14.

15.

16.

17.

To convert Active Voice into Passive Voice, the structure (Object + Auxiliary Verb + Past Participle
+ by + Subject) is used. In the sentence ‘The school will hire new teachers’, the object ‘new
teachers’ is placed at the beginning, and the verb ‘will hire’ is changed to ‘will be hired’. The
subject ‘the school’ is placed at the end as ‘by the school’.

B) Absolve (verb) — To set or declare someone free from blame, guilt, or responsibility. a’lmg‘q"a
CXGI
Antonym: Accuse (verb) — To charge someone with an offense or crime, blame, or hold
responsible. SIS SgTAT

e Commend (verb) — To praise formally or officially. TET FIAT

e Excuse (verb)— To forgive someone for a fault or offense. &THT ST

e Appeal (verb) — To make a serious or urgent request, typically to the public or higher
authority. 319TeT AT

C) Sovereign (noun) — A person who has supreme power or authority. gafd edT I@e arell
gfed

« Diversity (noun) — The state of being diverse; variety. TaTaerdar

e Secular (adjective) — Not connected with religious or spiritual matters. A faYeT

* Foreign (adjective) — From another country or nation. facefr
A) ‘good’ & o 'well' HWW?T@?HW% 'sings' verb I qualify Fel o [T adverb &1
Hﬁgmﬁ?ﬁ%ﬁ? 'well' H?f adverb %I 'good' adjective %’, ﬁﬂﬁﬂﬁﬂﬁﬁ S8 — She

sings well.

'well' will be used instead of 'good' because to qualify the verb 'sings’, an adverb is required,
and 'well' is the correct adverb. 'good' is an adjective, which is not appropriate here; Like— She
sings well.

B) A reply could have been sent by Meenakshi

Active Voice T Passive Voice H S&olel & [T (Object + Modal Verb + Have + Been + Past
Participle + by + Subject) ST YIT3T fohIT SATAT & | AT ‘Meenakshi could have sent a reply’ &1
Passive Voice H dgeld THT Object ‘a reply’ T qTEg T egaﬂ?rﬁwm% Verb ‘could
have sent’ T Passive Voice H dgela ‘could have been sent’ WTGHHT%I Subject ‘Meenakshi’
&I 37d H ‘by Meenakshi’ & &7 H I@T ATAT& |

To convert Active Voice into Passive Voice, the structure (Object + Modal Verb + Have + Been +
Past Participle + by + Subject) is used. In the sentence ‘Meenakshi could have sent a reply’, the
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18.

19.

20.

21.

object ‘a reply’ is placed at the beginning, and the verb ‘could have sent’ is changed to ‘could
have been sent’. The subject ‘Meenakshi’ is placed at the end as ‘by Meenakshi’.
C) Appreciate (verb) — to recognize the worth, quality, or importance of something, to value

highly, to praise. GTgeIT eheT, hg hiadl

Antonym: Depreciate (verb) — to reduce the value or importance of something, to belittle, to

criticize. ‘H‘\O'%I dcldl, Heccd dclddl
e Depict (verb) —to describe or show in a picture, to represent. TIF0T e, guieT &aT

e Esteem (verb)—to regard with respect or admiration, to value highly. 31TGY h{aT
e Acknowledge (verb) — to accept or admit the existence or truth of something, to
recognize. HAT=IAT oI, TATHR el

Q) CapitolWusemmﬁﬁﬁwmﬂmmﬁmﬁm%ﬁmﬁ
TIHR HTH Il &1 sentence H IARET SART & [AHA0T &7 oot forar = g, safow
'Capitol' @el g | STafeh 'Capital’ %TH?&%’%WWWWW, 'Captain’ FTHTE
oY €197 T 1T AT 31TAHRY, 3R 'Cannibal' &7 372 § s1X37&T, ST 8T context H AT £ |

Capitol will be used because it refers to the specific building where the U.S. government

operates. The sentence mentions the construction of a U.S. building, so 'Capitol' is correct here.
Meanwhile, 'Capital' means a city that serves as a seat of government or financial resources,
'Captain’ refers to a leader or officer of a team, and 'Cannibal' means someone who eats human
flesh, which don't fit in this context.

B) Apathy (noun) — Lack of interest, enthusiasm, or concern. 3GIHeTdT
e Antipathy (noun) — A deep-seated feeling of dislike; aversion. gl
e Empathy (noun) — The ability to understand and share the feelings of another. @18l

O N

e Sympathy (noun) — Feelings of pity and sorrow for someone else's misfortune. S RCEIG]

S N

C) Simulated" 3T 3T 1A 1Tk ST 372 BIAT § "I 0T AT ofehell &9 & A" S 50
sentence @ context ﬁﬂﬁ%l Sentence ﬁEIFaFIWTEITET%% augmented 3R virtual reality
Wﬁaﬁﬁﬂ?ma?environment ﬁaﬁ?ﬁﬁmﬁw "Fholl" environment a 1T
replace aﬂ?—ﬁ'%l "Suffocated" HFFHQST%E\F%E?IT, ST context ﬁ'\qﬁﬂﬁ'%’l "Revealed" <'=FI'3-T25r%'
Yehe TohdT a1, ﬁ%mﬁﬂﬁlﬂﬁmmaﬁ replacement I ST 8T ET &1 "Catered"
T Y BT & fahdll T T T I AT, ST 3 context H 3FAT 181 g

"Simulated" will be used because it means "artificially created or imitated," which fits the

context of the sentence. The sentence talks about augmented and virtual reality either
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22.

23.

24,

augmenting or replacing the real-world environment with a "fake" one. "Suffocated" means
"having difficulty breathing," which doesn't fit the context. "Revealed" means "shown or made
known," which isn't suitable here because the sentence is about replacing, not revealing.
"Catered" means "provided for needs," which doesn't fit the context either.

A) With' 3T 39313 8191 FA1 Tk "with" T 37 & TTT F| JgT ararg H 917 IrAr ¢ & "virtual
environment" m@m%mcoexist ERT-IT%’, Hﬁ%ﬁmmml 'Along'
1 FTeTd § AIY-ATY Tl §U, S 38 Hest 3 e 781 §1 'Beyond' 1 374 § 35 3191, 3R
'Behind' &7 3727 § I, St s a1y A 3T LT 81

With' will be used because "with" means together or alongside. The sentence mentions that a
virtual environment coexists with the actual world to provide more data. 'Along' means
alongside, which doesn't fit this context. 'Beyond' means further than, and 'Behind' means at
the back, which are incorrect here.

D) Equipment' WB‘CIWT@TITEI@% "equipment" WH&@W%W%@WM?W
$+(:IHI(‘1 ?I'?rdlé 3T AT 39T II'ETsentence ﬁw%‘gatawm%m
malfunctioning (STH o et aTell) VST T 3 ST ThAT ST /T &, SHTAT 'equipment’ TET
faﬁq%'l 'Arsenal' waﬁ%g@uﬁrmm, '‘Baggage’ %TH&%W, 3R outfit' E?T}T?ff%'
US IT Y1, ST 3T context H fihe 6T dad |

'Equipment’ will be used because "equipment" refers to tools or devices used for a specific

purpose. In the sentence, a handset is pointed at malfunctioning (not working) things, so
'equipment’ is the correct choice. 'Arsenal’ refers to a collection of weapons, 'Baggage' refers to
luggage, and 'Ouftfit' refers to clothing, none of which fit this context.

B) Comprehensive'ﬂﬁﬁm%@ﬂwsﬁmﬁﬁmﬁaﬁqgﬁﬁﬁ%mmﬁl TgT
W sentence H ST AT & fobs 3ol RATIE Teh TTaRONY simulation & ST o T
surroundings aﬁqﬁmﬁwﬁﬁ, 3-ﬁTWo_-|'€IT, WWHHN U Il %’I sﬂﬁrﬁf
‘comprehensive' ZIETH?(QI?C'\'%I 'Conclusive' a:ra%&@m%aiﬁnm%uﬁw, fosﬂcontext "
TEY T8I €1 'Reprehensive' & 312 81T & [T I199, S a9 & AT & Al o181 @IeT|
‘Transgressive' T 372 BT & TNAT3 T Seeltled T, ST TgT 3UTecl 61 ¢ |

'Comprehensive' means something that is complete or includes all aspects. In the sentence, it is

mentioned that virtual reality is an environmental simulation that entirely replaces the user’s
surroundings, implying a complete, immersive virtual world. Hence, 'comprehensive’ fits well
here. 'Conclusive' means decisive or final, which doesn’t fit this context. 'Reprehensive' means
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deserving of criticism, which doesn't match the tone of the sentence. 'Transgressive' means
violating boundaries, which is also not suitable here.

25. C) Rendition' Tg! [dehed § Fifeh SHT A AId ¢ [ohaT (AT cT T IT Ul ol TEHIOT AT
SITEAT, 31T TET Mike Tyson *Wﬁﬁﬂ%%ﬁ@ﬁéﬂﬁﬁﬁ@%l Glossary'
T HITT QUSCHILT BIAT &, ST 3T Ty & e A8 8IdT| 'Resistance’ & AdAS AU AT E, S
FET aY3e R & oler & HeIfO 1T &1 'Network' T Hcers el o3 gU AeeA A @i,
ST TET L e gt

Rendition' is the correct option because it refers to a specific version or interpretation, in this

case, a version of Mike Tyson in a virtual boxing ring. The context involves a virtual simulation,
so 'rendition' fits perfectly here. 'Glossary' refers to a list of terms and definitions, which
doesn't match the context. 'Resistance' refers to opposition or defiance, which is unrelated to
the description of a virtual figure. 'Network' refers to a system of interconnected elements,
which also does not fit here.

Telegram channel: English Madhyam.
Website: www.englishmadhyam.info Page 16




The Indian Express Editorial — By English Madhyam

Learn
Vocabulary
Through
Reading

- Articles

Just in case: The Hindu
(Aug-12-2022)

No holds barred: The Hindu
(Aug-13-2022)

See all

English Madhyam

One word Substitution: 01

8 <

Material Practice Feed Video

Telegram channel: English Madhyam.
Website: www.englishmadhyam.info Page 17



https://play.google.com/store/apps/details?id=com.education.english_madhyam
https://play.google.com/store/apps/details?id=com.education.english_madhyam

